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Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-II, March-2012
only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property
of Central Board of Secondary Education and no one including the user school is
allowed to publish, print or convey (by any means) to any person not authorised
by the board in this regard.

The School Principal is responsible for the safe custody of the question paper or
any other material sent by the Central Board of Secondary Education in
connection with school based SA-II, March-2012, in any form including the print-
outs, compact-disc or any other electronic form.

Any violation of the terms and conditions mentioned above may result in the

action criminal or civil under the applicable laws/byelaws against the
offenders/ defaulters.

Note:

Please ensure that these instructions are not printed with the
question paper being administered to the examinees.
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SUMMATIVE ASSESSMENT - II, 2012 47034
Henfera et - 11, 2012
SCIENCE / fag™
Class - IX /o8&l - IX

Time allowed : 3 hours Maximum Marks : 90

fuifa wu : 3 gue Ifereraw 37k : 90

General Instructions :

(1) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iii)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Question numbers 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

(vii)  Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

(viii) Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= fdar

()  T9 U U I S U, UT-37 T WMI-a F Sl T | SR SHI IRk e o I e
gl

(i) Ay erfremd ¥ |

(i) T WA T W HE T WH T § g WH-E B F u" g # ofiadt w=e femm e #
T U H 319 hael Tk il =197 i SR fera & fau 501 ghd ¥

(iv)  STURI WMT-37 3R WFI-& & Gt T & IR JIR-Jok o 8 |

(v)  WT-37 % W H&A 1§ 3 % YT Ueh-Teh 346k h & | 37 SR Ueh ITeg AL Ueh a1 | & |

(vi) ~ WTI-37 % YT H&A 4§ 76 YT -8 ekl & & | 7ok S A 30 9T&at H o ¢ |

(vii) ~ WHT-37 % T¥7 H&AT 8 § 19 T T -1 3¥ehl o & | Tk SO A 50 9Tal H <7 2|

(viii) WRT-37 % F¥T H&A 20 T 24 F YT Urel-UTa ekl o & | TToh ST T 70 P1aat | < T |

(ix) WF-& % U GE 25 ¥ 42 F YT YARMHSE hivad R R sgfohedt ued €1 Jds ged
Teh 3k H1 1 U T =R faeredl # & 9kl hadl Uk Fod 39ga faehed 1 T |
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SECTION-A / WRT-37

What is atomicity ? Name one diatomic molecule.

TRATIhT fohd hed & 2 U TguRHTIe o19] o1 Sereevl fafay |

Mention the location and function of notochord.

TeTenie i Tl T hd A1 eI TSI |

Name the compounds responsible for ozone layer depletion. 1

3 ARl 1 M Tafge S g1 SISIH a1 31aeTd gl S @12

Jelly fish and star fish are not true fishes. To which group do they belong ? Give one 2
characteristic feature of each to say why they belong to the respective groups.

AR T AR Hoelt A9 Asfadi T8l €1 3 gH1 fhg-form onf 9 gefeuq €1 37 A
ST oh1 Teh-Teh iy eieqor feafigu e shRor 3 SToH-3199 ol & Gefd |

Which of the following diseases will cause major ill-effects on general health -
Elephantasis, Cough and cold, Tuberculosis, Diarrhoea
What are such diseases called ?

frafafea § 9 37 W 1 Sifer [ amm= e R fauda g9 gem -
AR, Wid-T@Hm, qufcs, Ifaar
T I R o A e s § 2

Why an army tank weighing more than a thousand tonne rests upon a continuous 2
chain.

1 1 o TSTHh1 YR Toh TR 29 § 4t AT 81 €, T Had = W 1 feah 81 & ?

(@) Define kinetic energy 2
(b) A horse of mass 200 kg and a dog of mass 20 kg are running at the same
speed. Which of the two possesses more kinetic energy ?

(a) TGS el sl AR fateT |
(b) T el S THE 200 kg § A1 U FH FSHH AUH 20 kg &, I
T 9T 9 Sg W | SaE ol B o fRgent it Sl s1fies § 2

(@) Which postulate of Dalton’s Atomic Theory is the basis of Law of 3
Conservation of Mass ?

(b) Write the names of compounds represented by the following formulae :
(i) KNO, (ii) Al(SOy4), @i CCl, (@{v) HS

()  Efeed & ] fagia 1 & 91 AR geame o He % fram o ufomm €2
(b) Trfafed e s weRia iRl & W fate -

(i) KNO, (if) Al>(SOgy), (@i CCl, (iv) HS
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10.

11.

12.

13.

14.

List three subatomic particles of an atom. What are isotopes ? State one use each of
an isotope of (i) uranium, (ii) iodine

fereft ATy o < SraeRATUae Uil Al gEl SRy | HHE e € 2

() T=E, (i) TS % Toh-Teh HEHATF 1 Teh 3TN feafiaw |

State the postulates put forward by Neil’s Bohr about the model of an atom. Draw a
diagram to show the arrangement of energy levels in an atom.

GHY] % Hied & fawd | fied dR & iRl o1 Seord Hifse | fordt gem) § et wwl
i LT T TUH o forg s Eifem |

Identify and name the following :-

(a) organisms that use dead and decaying organic material as food.
(b) cell walls of fungi are made up of this special type of sugar.

() the kingdom to which amoeba belongs .

(d) an example of a moneran.

(e) an animal with the pseudocoelom.

) a group which has an open circulatory system.

freferfiaa et vty qen T fafe ;-

a) 9 S S 9vl % fou ga iR 9 Tt weteh gerel 1 S S
b)  WeTE ot IR fafa T fadi weRR ot Skt ST S 7

o) o fog sa @ geifea 7

d) A Sl H T TR

e)  TH Y o g™ B g

f) T o ek Sl # go g 9 e T

Classify the following and write one characteristic of each :-

(@) lichen

(b) sponges

() flatworm

T forg T STl o1 arfieha ifS q9T Yeeh 1 Teh-Teh fafire @aon fafeam :-
(@) TR

b) TS

(
(0 =W

a) How does antibiotic ‘penicillin” work against bacterial infection ?
b) Name two bacterial diseases that spread through contaminated water ?

(
(
(@)  Sftem Sifta Herwor & faeg wfastfas Afeiel fora worr & et § 2
(b) 3 5T § Se arer Sy sita 1 AT 6 AW At

(@) Lactometers are used to determine the purity of a sample of milk. State the
principle on which this instrument is based.
(b) Write two factors on which the buoyant force acting on a body when

immersed in a liquid depends.
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15.

16.

17.

18.

19.

T4 I Yl H S B F AT AR H1 3TER R s #1 fa fagia W
Ig g oenfia & sS4 fafam)

fordt fie 1 Tk g9 & gan W T 9o oo 59 S wRet R R war § 31
fafeq|

A porter holds a luggage over his head for 40 minutes and gets tired. Has he
done work ? Justify your answer.

What is the angle between the direction of motion of an object and the
direction of the applied force, if the work done on the object is said to be
negative ?

Define 1 joule of work.

T it 40 THE T IR S3TeRt Tgl TEd & 31 o Sl § 1 o SHA i fepa ?
e Tk SIS |

e ferdt atg W e o Sl o § O 39 9% W @ a1l 9d @ e $iR
Tfd =t fwm H s 9t shiv 61 w19 fafe )

(it) T [T R ol TR ISl

Two boys Ram and Shyam have mass equal to 40 kg each. They start climbing a rope
separately and both reach a height of 6 m. Ram takes 20 seconds and Shyam takes 25
seconds to complete the task. Who has more power? Explain your answer.

(Take g =10 m/s’) )

< S1eTeh T T YA S | Y 1 g 40 kg € TR TH W 6 m i SHaTE qh ed
g1 9 HE D] YU A | TH 20 1 THA AT & S@feh YA 25 61 997 Aq ¢ 1 e

31fereh Tfokd © 7 39 W i e FRIT | (g T AHF =10 ms™2)

What is an echo ? When can we distinctly hear the echo of a sharp sound ? Why can
not we hear an echo in a small hall ?

wfaeat ford ed €2 &0 fopedt e saft =t wfqeaft &a g wha €2 forlt S12 g1 o
TA gfaeaf o1 &1 g7 Hehd ?

Give reason for the following statements :-

(@)
(b)
(©)

Fertile soil has lot of humus.
Dust is considered as a pollutant.
People love to fly kites near the sea shore.

frfafaa sgaasl o fau wror fafeu .

(@)
(b)
(©)

IuSITS: f § stferes A o g B §
¥ T YGHh T S & |
AN FE-2 % e T ST TEE Hd B

Draw and explain carbon cycle in nature.

Thfd | Tei ok ohl NG T T AREAT HITTT |
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20.

21.

(@) What would be the formula of chloride of ‘X’ if it is a metal and its oxide has

the formula XO ?
(b) Write a difference between an atom and an ion.
() Give an example of each :
(i) Triatomic molecule. (ii) Polyatomic ion.
(iii)  molecule of a compound (iv)  cation
v) an element with valency - 3

(d) Calculate the formula unit mass of Calcium Carbonate (CaCQO,).
(Given atomic mass of Ca = 40u, C=12u, O=16u).

@) 9 T T ug T IR THh RS H Y XO § T W T & FANEE Hl
=1 BT 2

(b) T SR A H T AW fafan |

(©) 9% I TH-Teh IAEL BT
(i) PR e (i)  SEICIVER AT
(i)  forslt <Aifiren w1 o1 (iv) U& ¥AEA
(v) UH T et Gaea a3 gl

(d)  CaCO, %l ¥ 3T ToAHM UReher Hifig |
(TTATY] E=HH Ca=40u, C=12u, O = 16 u).

OR
(i) Calculate the number of particles in each of the following :
(Given : Atomic Mass of Na = 23u, O = 16u)
(@) 46 g of sodium atoms.
(b) 8 g of Oxygen gas (O,).
(ii) Write down the formulae of the following compounds.
(@) Sodium oxide
(b) Aluminium chloride

()  Frfaftad & | ol ot §E&A o1 aiewad it |
(I S=FH@H Na =23 u, O=16 u)
(@) 46 g Hifedq wHIY
(b) 8 g ARSI Y
(i) Fr=fafea At % 37 fafe -
@)  wifeaw sfmmEe

(b) TP FRES
Classify the vertebrates into five classes giving two characteristics and an example 5
for each.

FUTh! S B U IOl W IIiRd BT TAF S KT Th IS0 Figd < 2Afuerein
ferfEm |
OR

Classify kingdom Plantae into 5 groups giving a characteristic feature and two
examples for each of the group.

ST ATt bl Tk oh1 Ueh-Ueh ATUTIETOT T S1-3 STeL0T T §U 5 a1 B oifichd Shifery |

Page 6 of 16



22,

23.

24.

(@) What is the commercial unit of energy ? Give the relationship between
commercial unit of energy and joules.

(b) In an office, a tube light of 40W, a fan of 75 W and a cooler of 150 W are
installed. If the appliances are used for 8 hours per day, find the energy
consumed per day in commercial unit.

() Sl R AT AR 91§ ? ol o SAedI g A=k 991 5[ | deiy fafau |

(b) T IHH § Tk Tgal A8 40 W i, Th TG 75 W T a1 Toh Her 150 W 1
T T E 1 Afs ¥ wfus 8w wfafer wim fr S @ uw fo # susdm
el Soll ol STk g(e H Gfehierd hifsq |

OR

State the law of Conservation of energy.

[lustrate the law of Conservation of energy by discussing the energy change which

occurs when a pendulum bob is drawn to one side and allowed to oscillate. Why

does the bob eventually come to rest ? What happens to its energy eventually ?
Explain whether it is a violation of Law of Conservation of energy.

Fell W o oW ot 2ad it |

ST &1 Tt Tt icteh & Tiicteh ol Teh 311 o STt BISd & ol 8 Qe i ofal & |
TOH T 910 URadH! i == B gU Sl Tl o T i T Hifse | ieth $9 96
Ty form sraen H Rl o1 <A1 § 2 31qd: THR! Sl I 91 BT § 7 1 AT Sl L&
e =1 SeeteE §2

(@) List in tabular form two distinguishing features between longitudinal waves
and transverse waves. Give an example of each.

(b) State and define two characteristics associated with sound waves.

(@)  STged TN a1 TIIRY aUl H faUeH &3 At & A& S G ST | T H
LEAEHURIRAIEY

(b) =& TN G Heg < AT 1 oo wifee 3R TR aRam off fafaw)

OR

(@) What does SONAR stands for ? Explain its working stating one practical
application.

(b) A ship sends out ultra sound that returns from the seabed and is detected

after 4s. If the speed of ultra sound through sea water is 1550 m/s, find the
distance of the seabed from the ship.

(@)  EFR = g AW fafaw | swet s fafy 1 Seerg S U SAEeiiie Ay
ST I
(b) I SRS WAl IS T & S 9Hg qa | Wafdd e 4s & I9eTd Sgfed ot

STt 81 afe Tg-Siat § weaf i =1 1550 m/s &, A 9Ug 9 § SRS i gl
14 Shifed |

Soil formation is done by both biotic and abiotic factors. List the names of these
factors and explain their role in the formation of soil.

a1 1 Fmfor S, St qe 3TSia SRehi GRT BIAT 81 39 hiehi & A fafn qen gt fafor
H gTen! YfHeRT i SAREAT FITST |

OR
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25.

26.

Give reason for the following statements :-

(a) Percentage of gases like oxygen, nitrogen and carbon dioxide remain almost
same in the atmosphere.

(b) Even though moon is at the same distance from the sun as the earth still the
range of temperature is very wide - 190°C to 110°C.

() Fossil fuels cause air pollution.

frferfiaa sskret & fore R fafe

(@)  dgHed H SATHHISH, TEIISH AUl FETSHIATRIES 1 Yided MW Th GHH
w2 |

(b) Ty = gF § T Sa & g W B AT fR gest aaifa aeme s 9iER
aga e =AME T - 190°C to 110°C |
()  Siamew SoHi | arg Jguv gl ¥

SECTION - B / {M-&

When we react copper sulphate and sodium carbonate while proving the law of

conservation of mass, which statement is correct ?

(@) Mass of Copper Sulphate = Mass of Sodium Carbonate

(b) Mass of Copper Sulphate + Mass of Sodium Carbonate = Mass of Copper
Carbonate + Mass of Sodium Sulphate

() Mass of Copper Carbonate + Mass of Sodium Carbonate = Mass of Copper
Sulphate + Mass of Sodium Sulphate

(d) Mass of Sodium Carbonate + Mass of Sodium Sulphate = Mass of Copper
Sulphate + Copper Carbonate

SAM HEU o W % HA o T S 89 R Gethe 991 HiieqH Heiqe |
SAfufsran w1 € A1 e fau e F § HiF 9@ w9 § 2
(a) IR HTHS T GHAM = HIfSTH HiEie FH GAHH
(b) TR Gehe + HfeTH FHEHS 1 FHAMH = HIW FEiHS + HfeTd Tehe

A

() IR FEHE + HfeTH FEHE H GHAIH = HW qohe + Tead ke
A

d) wifead gethe + Tifead FHEe o G0 = HIW TR + HITR HEHE 6
S

To verify the law of conservation of mass, the solutions of Barium Chloride and
Sodium sulphate taken in a conical flask should not be mixed before weighing the
flask to find out initial mass because :-

(@)  the mass will increase on mixing.

(b)  the mass will decrease on mixing.

(c)  the products will be formed on mixing.

(d)  the solutions do not react with each other on mixing.

TAT TI&IUT & 199 T 9T hid THYT YRR ok § fau e 9w JeiiEs aen
Hifeqn ethe o faaaql sl IR geqa dieH 9 9gdl fafsa 7 s =nfe ife .-
() Tufsd w8 o geaH o5 S|
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27.

28.

29.

30.

(b) THfYT S R ZHHAM = ST |
c) THfYd i W 3g 5 Se |

(
d) fafga & RS faeas omaw 8w stfafsran T2 &3 |

The animal whose blood is not the carrier of oxygen to the tissues is :

(@) toad (b) frog () man (d) cockroach
g wig foraeht T Sashl B SATRfis & e i i T FRAILT TR R
(@ e (b) Hew (c) Hre (d) i

The umbrella like spherical part of a mushroom is called :

(@) Stipe (b) Pileus

() Annulus (d) Rhizoids

TRIER § BA 6 THM T 9 HeA @ -

(a) WY (Bidh gq) (b)  UEfaEE (BHR)

(© TIm (9  TETEes

The feature which is not found in arthropods is :

(@) Jointed legs (b) Scales

(c) Compound eyes. (d) Wings

8 &I S TS Sfell # Fel IR S § 9 G

(a) @I (b) o (c) e st d) =@

In the diagrams of moss and fern given below, the spores in the moss and the fern

are present in respective part labelled as :

= feu o WA qon o % ol °, sty sufed @ € eToH-3To ATHifeRd 9T
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31.

32.

33.

Q

(@) iand iii (b) ii and iii (o) iandiv (d) ii and iv

o feu TTu sl | 9 fgefisas e -

(@) id9iii (b) T () idMiv (d) i iv

The correct sequence of developmental stages in the life cycle of a mosquito is :-

(@) Egg, Larva, Pupa, Adult (b) Egg, Pupa, Larva, Adult
(c) Egg, Adult, Larva, Pupa (d) Egg, Larva, Adult, Pupa
=X o Sl =5k i TIohTEl STaeensti ol Tl i & -

(a) e, ferveh, =, so%h (b) e, g, ferqen, TR
() eI, gu%h, fevs, T (d) e, ferven, aa%eh, =l

The mass of a solid iron cube of side 3 cm is to be determined using a spring balance.

If the density of iron is approximately 8.5 gcm ™3, the best suited spring balance for

determining weight of the solid would be of :
(@) Range 0 - 250 gwt; Least count 1 gwt
(b) Range 0 - 250 gwt; Least count 5 gwt
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() Range 0 - 1000 gwt; Least count 5 gwt

(d) Range 0 - 1000 gwt; Least count 10 gwt
T 319 3TRERA 4 fSr8eht Y&eh el 3 cm © 1 IR Teh HAMCR Il §RI FA LT 8, IS
SR 1 B 9T 8.5 gem 3 8, T 9 ¥ o1 YR A9 o fIw Ha9 I9ga FHAMIGR

ﬂ?ﬂ%:

(@) 90 - 250 gwt; STaHIh 1 gwit

(b)  TRERO0 - 250 gwt; AEITHIH 5 gwt

(c)  TRER0-1000 gwt; 3TeqaHIh 5 gwt

(d)  9RE0 - 1000 gwt; 3TeqdHish 10 gwt

34. Observe the figure below :

=
=

I

1©2 BN @)}

Y

The volume of stone immersed in the liquid is :

|
f

)

|

=

MTTTTTN
[y
I I

ERR
LIl

MTTTTIMTITTT

N

'

N

Ilill

—

(©)

(@) 1mL
=1 o= =1 eTaciien hifaT |
L6 mL
-5
—4
‘;33_ ——
e
A
Zd H gAY 7T S I 3T ©
(@ 1mL (b)

(©)

3mL

3mL

(d)

5mL
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35.

36.

There are three vessels (A, B, C) containing 10% saline water, 90% water. A body is
immersed in each. In which case, loss of weight is minimum.

P —

//

/s

saline 10% Water 90% saline
A B C
(a) A (b) B
() C (d) same in all three cases

@ o (A, B, C) B ST 10% THRIA S, 76 1 ST 3R 90% THRM 5l 1 Teh I
1 Yk B gaE a1 © @R 9 o A ot §1 fhm W owg & wR W g9 stfiw

Cil 3TFQTﬁ :
I 1 —_

Wi = |-7=

THEE A 10% et bl STed 90% T 5T
A B C

@ A by B

© C (d) | H =R Rt

A student note down the weight of a body in air and after immersing it in water with
the help of two spring balances (as shown in the figure). From the observation, loss

in wt. is given by :
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(@)

20g

20g

3 3 8 8

l!l;ill!ll'llill!lliﬁli'

(=1

|

(b)

© 3 88 8

l!l*ilI!ll'llill!lliﬁli'l

|

65g

(©)
Teh B A T HAFIGR Jeredi ¥ woer: Tt owg &1 9R 9 # ik 38 a1 | gal a fo@n)

(1 fop oot & femmn o §) | a%g & WRH 1% S

40¢g

40¢g

(d)

(d)

30¢g

30g
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37.

38.

39.

A metallic cuboid of mass 12 kg has dimensions 40 cm X 30 cm X 10 cm. The
maximum and minimum pressures exerted by the cuboid on a surface respectively
would be :-

(take g = 10 m/s?)

(@) 4000 Pa and 3000 Pa (b) 4000 Pa and 2000 Pa

() 4000 Pa and 1000 Pa (d) 3000 Pa and 1000 Pa

T Hifeaeh AT T fOET 40 em X 30 em X 10 cm T §HM 12 kg €1 39 SN §RT

foRelt gs W e T SfieRan e =[IaH <@ ST hEST: -

(g ST AM 10 m/s” TIIT)
(@) 4000 Pa 713000 Pa (b) 4000 Pa 712000 Pa
(©) 4000 Pa 11000 Pa (d) 3000 Pa A11000 Pa

A student takes an iron cuboid of dimensions 40 cm X 20 cm X 10 cm and mass 6
kg. He places it on loose sand filled in a rectangular tray. On the basis of his
observation he may conclude that the penetration of the iron cuboid into the loose
sand is :

(@) maximum when it lies on its sides of dimensions 40 cm X 20 cm
(b) maximum when it lies on its sides of dimensions 20 cm X 10 cm
() maximum when it lies on its sides of dimensions 10 cm X 40 cm
(d) same in all the three cases as the thrust is same.

@ﬁ@'ﬁﬁ%cmeOcmx10Cm%|ﬂT3ﬁW@Fh%aﬂWﬂmﬁlﬂW6kg%
A T | I8 TR TF AFAHR ¢ B Wt T el Y@ W W@ €1 o799 YeTul o STER W
e frent ke © fof @ie o =1 g fRIferena o e 7o <16 S ;-

(@) 40 cm x 20 cm fommsll o1t g8 W W STH W AfRdd

(b) 20 cm x 10 cm fommsll et g8 W W STH W AfereRdd

() 10 cm X 40 cm Tl a1 68 W @ STH W AR
(

d) UG T AN ¥, SHfAT 1 9ROl § S Uk THE B0 |

In the experiment on studying the laws of reflection of sound the pipe A facing the
clock is placed as shown in the figure. The position of the second pipe B at which the
ear will get the best reflected sound is at :-

60°

?

A B

@  20° (b)  30° ©  40° d  50°

M & WA & IHT 1 SAEEE R & fu uSt Fi 3R 9 UEY A FI TR H 9
T SATAR T@T 741 €1 M i AR 9t 9zy B i feufa, f5ad fr wafda saf v g

Wﬁ,@:ﬁ;ﬂ%ﬁ:—
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40.

41.

42,

60°

A B
@ 200W (b)) 30°RW () 40°R  (d) 50°R

While performing an experiment on verifying the laws of reflection of sound the
reflected sound can be detected better by keeping one ear :-

(@) near the end of the second tube and keeping the other ear closed.

(b) near the end of the second tube and keeping the other ear open.

() at about 5 cm from the end of the second tube and keeping the other ear
closed.

(d) at about 5 cm from the end of the second tube and keeping the other ear open.

e & e & Il o6l Fefd e o foe fee 1e gam § wafda s wase gt s
Tehell & 5191 Weh A I TG ST ;-

(a)  THLUEY h T4 & o6 991 gHU A &g @ S

(b) TR WY S T o IRk q91 SHU 6 Gall W@ Sy

()  TEL WY H SN 5 cm G AT GHU A g Tl SM¢
(

d) SHUEY 9 U 5 cm G AN GHU A Gell Wl ST

A strong transverse horizontal pulse, created at one end of a string, is observed to
complete 5 journeys along its length, before fading out. The initial reading of the
stop clock used in the experiment was 5 s and the final reading was 55 s. If the length
of the string for one journey is L metre, the speed of the pulse, through the string is :

(@  (L/55)ms—1 (b)  (L/50)ms—1

©  (L/11)ms—1 d  (L/10)ms—1

SR o T TR W 3 Yo S STIueY T ol o | 5 9R H9Rd B <@, ¥
TH T 9 T8 WA T U fom-vEl # URITeh Wedih 5 s 7R 3ifaw aredien 55 s ol
Ife SR i TR Th TR0 B L WX 8, S H S hl I @

@@  (L/55)ms ' ()  (L/50)ms '

@ (L/11)ms ' (d) (L/10) ms '

The following apparatus is available in a laboratory :
) Thick silk string

B) Thin silk string
C)  Thick cotton string
D)  Thin cotton thread

E) A stop clock
) A table clock
A student can do his experiment, to determine the speed of a pulse through a

g3

(A
(
(
(
(
(

stretched string by choosing the apparatus labelled as :
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